| Efficiency vs Dxy |

> 0.5
<

Iclienc

eff
o
(T)IIII

QOB
> 5 5 5
G 0.4
L R e R

................................................

0.25f oo

| Efficiency vs Dz |

0955~ 157210 =5 0 5 10 15 20

TP dxy (cm)

—— DQM_fitted4_1000evt

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt

0.5

Vs dz
o
N
(6] ]

iency
o
~

0.35

effic
o
w

0.25

..................

Ratio

&
>4
g

=
o
[$)]
TTT [T T T T [TT T [TTTT

= |
ERHEINRNE
AT 1%

* . .

R E
* .

*| | :

o
|©
oSt
o
|
N
o

10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


